COUNTY OF DANE
DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION
Room 425 City-County Building
210 Martin Luther King Jr. Blvd.
Madison, W1 53703-3345
608-266-4131
FAX 608-266-4425 TDD 608-266-4941

GREG BROCKMEYER CHARLES HICKLIN
Director of Administration Controller
DATE: December 22, 2017
TO: All Proposers BID #118001 — Steel Plate Beam Guard
FROM: Pete Patten, Purchasing Agent
SUBJECT: ADDENDUM #1

Please use the revised price proposal from this addendum when submitting your proposal.
Additions/revisions are shown in red in the document.

Please acknowledge receipt of this addendum by noting “Addendum #1 Received” on the bottom of
the Signature Affidavit when you submit your bid. If you have any questions regarding this addendum,
please contact me at 608-267-3523.

Sincerely,

Pete Patten
Purchasing Agent

BID# 118001 — Steel Plate Beam Guard 1



PRICE PROPOSAL

NAME OF
COMPANY:

For the price(s) listed below, our company hereby offers to provide the following item(s) in
accordance with the specifications of this bid. Pricing must include delivery.

PESCRIPTION BULK ORDER | price per | PRICEIBULK
UNIT QUANTITY

MGS Guardrail: Note all MGS rail to be punched at 3' 1 %" centers
MGS Beam Guard Sec., Straight, 12’ 6" 200 ea

MGS Beam Guard Sec., Straight, 15’ 7.5 10 ea

MGS Beam Guard Sec., Straight, 25’ 0” 10 ea

MGS Radius Rail, 5-foot 5 ea

MGS Radius Rail, 10-foot 5 ea

MGS Radius Rail, 40-foot 5 ea

MGS Radius Rail, 50-foot 5 ea

MGS Radius Rail, 60-foot 5 ea

MGS Radius Rail, 75-foot 5 ea

MGS Thrie Beam Straight, 12’ 6” Section 5 ea

MGS Thrie Beam Transition, 6’3" Section 5 ea

MGS Thrie Beam Endshoe 5 ea

Galv St Guard Rail Reflect w/ Type H Sheet 100 ea

NUTS & BOLTS:

5/8"x 1 ¥4" Splice Bolt w/ Nut 200 ea

5/8"X 2" Post Bolt w/ Nut & Washer 50 ea

5/8"X10” Post Bolt w/ Nut & Washer 50 ea

5/8"X14” Post Bolt w/ Nut & Washer 50 ea

5/8"X18” Post Bolt w/ Nut & Washer 50 ea

5/8"X21” Post Bolt w/ Nut & Washer 50 ea

5/8"X25” Post Bolt w/ Nut & Washer 10 ea

BID# 118001 — Steel Plate Beam Guard




DESCRIPTION BULK ORDER | LRiCE peR | PRICEBULK
UNIT QUANTITY
GUARDRAIL POSTS & BLOCKS:
Metal I-Beam Posts — W6 x 9 x 6’ 50 ea
Treated Wood Posts, 6” x 8" x 6’-0” 200 ea
Treated Wood Posts, 6” x 8" x 8'-0” 200 ea
Plastic Guardrail Block, 6” x 8" x 14" 50 ea
Plastic Guardrail Block, 6” x 12" x 14" 50 ea
Plastic Guardrail Block, 4" x 12" x 14" 50 ea
Wood Post Block, 14” x 8" x 6” 50 ea
Wood Post Block, 14" x 12" x 6” 50 ea
Tapered Wood Post Block, 14" x 8" x 6” 50 ea
END SECTIONS:
Wrap Around Ends (round ends) 1 ea
Flared Ends (fish tail ends) 1 ea
Bronstad Ends 1 ea
End Shoe (bridge connection) 1 ea
TYPE | & Il ANCHORAGE:
Type | Anchor Assembly Complete 1 ea
Type Il Anchor Assembly Complete 1 ea
12.5’ Rail(Special Punched for Type I&ll) 1 ea
12.5’ Rail (Special Punched for Type Ill) 1 ea
Cable Anchor Box 1 ea
Double Swaged Cable 1 ea
Steel Tube (LG 6" x 8" x 5) 1 ea
1 Piece Buffered Terminal End Section 1 ea
TRINITY THRIE-BEAM BULLNOSE PARTS:
12379G Slotted Threibeam, 12.5' - 5’ rad 1 ea
12385G Slotted Thriebeam, 12.5-34'rad. 1 ea
_123836 Slotted Thriebeam,12.5'slotted 1 ea
rail
209G Thriebeam, 12'6” Section 1 ea
729G - 6” x 8" x 8 Tube Sleeve 1 ea
749G - 6” x 8" x 6’ Tube Sleeve 1 ea

BID# 118001 — Steel Plate Beam Guard




DESCRIPTION ng’;gﬁ?ER Eer=rEr M FECE TR
UNIT QUANTITY
6117B - 6’ x 8" x 6'6™ Treated Posts 1 ea
6115B — 5.5" x 7.5" x 3'10" Treated Posts 1 ea
6118B—6"x8"x14" Tapered Treated Block 1 ea
6121B — 6" x 8" x 6'6” Treated Posts 1 ea
6122B — 6" x 8" x 22" Treated Blocks 1 ea
6669G - 5/8" x 14'4” Nose Cable 1 ea
19361G - Nose Cable Anchor Plates 1 ea
SKT 350 END TREATMENT
SKT 350, complete* 1 ea
S3000, Impact Head 1 ea

W-beam Guardrail End Section, 12 Ga.

S1303, 12’-6” Section

€a

S1305, 25’-0” Section

€a

S730, Foundation Soil Tubes, 6"x8"x6'0”

ea

E740,Pipe Sleeve 2" Standard Pipex5 %2”

ea

E750, Bearing Plate — 8"x 8" x 5/8”

ea

S760, Cable Anchor Bracket

€a

E770, BCT Cable Anchor Assembly

ea

E780, Ground Strut

€a

P650, 5 ¥%2" x 7 ¥2" x 45" Wood Posts

ea

P671, 6" x 8" x 6'-0" Wood CRT Posts

ea

P675, 6" x 8" x 14" Timber Blockouts

ea

E3151, Impact Face Object Marker

€a

B580754, 5/8” x 7 ¥4" Hex Bolts

ea

B581004, 5/8” x 10" Hex Bolts

€a

B581002, 5/8” x 10" HGR Post Bolt

ea

B581802, 5/8” x 18" HGR Post Bolt

ea

NO50, 5/8” HGR Nuts

ea

WO050, 5/8” Flat Washer

€a

N100, 1" Anchor Cable Hex Nuts

€a

W100, 1" Anchor Cable Washers

€a

SB58A, Cable Anchor Bracket Shidr Bolts

N R S e e N S T I = = IS BN I, [ )

ea

BID# 118001 — Steel Plate Beam Guard




PICKED-UP
DESCRIPTION BULK ORDER | bk pER
QUANTITY ONIT

DELIVERED
PRICE/BULK
QUANTITY

NO55, 2" A325 Structural Nuts 1 ea

WO50A, 1-1/16" OD x 9/16” ID, A325

Structural Washer 1 ea

UNIVERSAL TAU CRASH CUSHION:

Nose Piece ea

Wide Nose Piece ea

Type A Energy Absorbing Cartridge ea

Type B Energy Absorbing Cartridge ea

Single Slider Panel ea

Pipe Panel Mount ea

Lateral Support Cable per Foot ea

Single X Bulkhead ea

Double X Bulkhead ea

RPlRrlRr|lRP|IRP|IP|RP|RP|R|R

Triple X Bulkhead ea

QUAD-GUARD SYSTEMS:

Yellow Nose Assembly 1 ea

Type | Cartridge 1 ea

Type Il Cartridge ea

Fender Panel ea

Monorail ea

[ T T

Diaphragm ea

=

ENERGITE CRASH SYSTEMS:

Yellow Nose Assembly ea

Energite 11l 1400# Container, Model 640 ea

Energite 11l 2100# Container, Model 960 ea

Energite 111 200/400# Inner Cone ea

e e e N

Energite 11l 700# Inner Cone ea

Black Lid 1 ea

CASS CABLE GUARD PARTS (TRINITY HIGHWAY PRODUCTS):

5/16” Hex Nut A563, #3245G 1 ea

5/16"X2" Hex Bolt Grd 5, #3248G ea

1
Cass Cable Spacer TL3, #5700B 1 ea
1

Cass CBL SPCR TL3 Ref Yellow #5701B ea

BID# 118001 — Steel Plate Beam Guard




DESCRIPTION

BULK ORDER
QUANTITY

PICKED-UP
PRICE PER
UNIT

DELIVERED
PRICE/BULK
QUANTITY

Cass Post StrapS4 TL3/4, #5707T

1

€a

Cass Dust Cover S4 Post, #5708B

ea

Cass Cbl Int 1000’ LT/RT, #5816G

ea

Cass Cble Term 54'4 LT/RT, #5817G

ea

Cass Cbl Term 48’1 LT/RT, #5818G

€a

Cass Cbl Term 41’10 LT/RT, #5819G

€a

Cass Lock Bolt 5/16”, #5825G

€a

Cass 5/16” Rnd Wshr F436, #5831G

ea

Cass 5/16” Hx Nut SAE GR5, #5832G

ea

Cass Sleeve Cover S3 Post, #5839B

ea

Cass-Cbl Brkt for CRP PST, #33909G

€a

CCT Line Post S3x5.7 5’3, #33910G

ea

Cass-CRP-Upper Post 2’0, #33935A

€a

Cass-TL3 Spost 3'-11 Y4,

RPlRr|lRr|lPr|lRP|IRP|RP|RP|RPR|RPR|R|R|PR

ea

GIBRALTER CABLE GUARD PARTS:

TL-3 Haripin 7/16” x 24"

ea

TL-3 Lockplate 1/8 x 1 ¥ x 6 °/g

€a

Ubolt Lockplate Assembly

€a

J-Bolt %"

€a

Anchor Terminal Fitting

ea

Terminal Keeper Wire 12ga x 12"

ea

TL-3 Pre-stretched Cable 34"

ea

TL-3 15" Socket w/o Mow Strip

€a

Cable Splice Turnbuckle

€a

Torpedo Splice

€a

Acorn

ea

Delineator/Reflector Object Marker

ea

Excluder Cap

ea

Post Cap

€a

TL-3 Line Post Socketed

€a

Base Plate Post/Surface Mount

€a

Base Plate Post/Low Fill

RPlrRr|lRrlRr|RP|IRPIRP|IRP|IRP|P|IRPIRP|IRP|[RP|RP|R|R

ea

BID# 118001 — Steel Plate Beam Guard




Terminal Post No1l/Weak 1 ea
Terminal Post No 2/Weak 1 ea
Terminal Post No 3 & No 4 STD 1 ea
Cable Release Post 1 ea
Anchor Post 1 ea
ATTENUATORS: TEST LEVEL llI
Attenuator-Test Level 1l w/ Concrete ea
Anchors - SCI100GM- 270128
Attenuator-Test Level Il w/Asphalt Anchors ea
- SCI100GM- 270127
Transition Jersey Barrier - Right - 275297 ea
Transition Jersey Barrier - Left - 275294 ea
Bolt Shear - 270683 ea
Panel Delineator (Painted Yellow) TL3 - ea
273378
Panel Delineator (Painted Black) TL3 - ea
273386
Panel Delineator Diamond Grade Chevron ea
6" Stripes TL3 - 273381
Panel Delineator Diamond Grade Left ea
Shoulder 6” Stripes TL3 - 273383
Panel Delineator Diamond Grade Right ea
Shoulder 6” Stripes TL3 - 273389
Panel Side TL2 & TL3 - 273401 ea
Panel Sled - 273402 ea
Panel Rear - 273399 ea
Keeper Side #3 (Sled Panels) TL2 & TL3 - ea
272597
Keeper Side #1 (Side Panels) TL2 & TL3 - ea
272593
Keeper Side #2 (Rear Panels) TL2 & TL3 ea
- 272595
Reset Parts Kit TL3 - 272621 ea

BID# 118001 — Steel Plate Beam Guard 7



Specification Requirements

Yes

No

All guardrails meet the specifications of Section 614 of the Standard
Specifications and is listed on the Wisconsin Department of
Transportation “WisDOT Approved Shipments/Prequalified Vendor
Inventory List”.

The packing slip sent with each shipment will include the approved
guardrail heat numbers.

Delivery time in calendar days after receipt of order:

Quote/Bid price delivered FOB Destination To:
Department of Public Works Highway and Transportation
2302 Fish Hatchery Road

Madison W1 53713

BID# 118001 — Steel Plate Beam Guard




	FROM:  Pete Patten, Purchasing Agent

